
www.pccox.co.uk
sales@pccox.co.uk

TEL:44(0)1635 264500

REV DATE

CBA 25 E 24/09/2003

2F1203 M4 Nut 2
2F1604 M4 x 30mm Screw 2
2F1609 No. 4 x 3/8" Screw 6
2M1021 Plastic Breech 1
2M1041 Plastic Bulkhead 1
2M1042 Plastic Button Washer 2
2M1078 Plastic Cartridge Sleeve 1
2M2044 Dump Valve Body 1
2P1007 Plunger Plastic 19mm 2
2P1008 Plunger Plastic 10mm 1
2S2007 O Ring 1
2S2113 U Seal 1
2S2150 Dump Valve Diaphragm 1
3F3005 Cord Retainer Pin 1
3P1015 Plastic Piston 1
3R1941 Rod 108mm 3
4B1200 Air Gun Butt Assembly 1

Parts List
STOCK No DESCRIPTION QTY

7A1502 Regulator Assembly  (75psi, including 1
O ring and washer)

7A2000 Standard Nut and Tail Connection 1
7A2001 European Quick Release Fitting 1

Assembly
7A2002 US Quick Release Fitting Assembly 1
7B3019 Barrel 152.4 mm 1
7C1001 Air Gun Back Cap 1

Parts List
STOCK No DESCRIPTION QTY

7B3019

2S2007

2S2150

7A1502

7C1001

2M2044

3F3005

2S2113

3P1015
2F1604

2M1041

2M1021

2P1008

2M1078

2P1007

4B1200

2F1203

3R1941

2F1609

7A2000

7A2002

7A2001

Optional American quick release fitting

Optional European quick release fitting

2F1609

2F1609

2M1042

2F1609

2M1042

gearhart
www.pccox.co.uk
sales@pccox.co.uk
TEL:44(0)1635 264500



www.pccox.co.uk
sales@pccox.co.uk

TEL:44(0)1635 264500

REV DATE

CBA 25 E 24/09/2003

2F1203 M4 Nut 2
2F1604 M4 x 30mm Screw 2
2F1609 No. 4 x 3/8" Screw 6
2M1021 Plastic Breech 1
2M1041 Plastic Bulkhead 1
2M1042 Plastic Button Washer 2
2M1078 Plastic Cartridge Sleeve 1
2M2044 Dump Valve Body 1
2P1007 Plunger Plastic 19mm 2
2P1008 Plunger Plastic 10mm 1
2S2007 O Ring 1
2S2113 U Seal 1
2S2150 Dump Valve Diaphragm 1
3F3005 Cord Retainer Pin 1
3P1015 Plastic Piston 1
3R1941 Rod 108mm 3
4B1200 Air Gun Butt Assembly 1

Parts List
STOCK No DESCRIPTION QTY

7A1502 Regulator Assembly  (75psi, including 1
O ring and washer)

7A2000 Standard Nut and Tail Connection 1
7A2001 European Quick Release Fitting 1

Assembly
7A2002 US Quick Release Fitting Assembly 1
7B3019 Barrel 152.4 mm 1
7C1001 Air Gun Back Cap 1

Parts List
STOCK No DESCRIPTION QTY

2M1042

2F1609

2P1008

2M1042

2F1609

2F1609

7A2001

7A2002

7A2000

2M1021
2F1609

2F1203

4B1200

2M1078

2P1007

2F1604

2M1041
3R1941

3P1015

3F3005

2S2007

2M2044

2S2150

7A1502

7C1001

2S2113

7B3019

Optional American quick release fitting

Optional European quick release fitting

gearhart
www.pccox.co.uk
sales@pccox.co.uk
TEL:44(0)1635 264500


